1. ve 2. sorulan asagida verilen tabloya
gore cevaplayiniz.

Answer the questions 1 and 2 by using
the following table.
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Tabloda * igleminin gorevi belirlenmigtir.

The operation of * is established in the
table.

ORNEK (EXAMPLE)
1*2-4 ve(and) 3*4=5

1. (2*4)*x=5 :‘=?

A)1 B)2 ©€)3
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(x = 2)". (x +3)" 5
¢oziim kiimesi (-,

(mis even and n is odd)
Um pozitif degerleri alr. (m
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v
4. x=-2 ve X¢—§ olmak lizere, 6. 5¥-3Y = 3x, [
3.2 4 A)8 B ,
2+ix— '
X+2 D)3 E)

denklemini saglayan x degeri kagtir?

Let us suppose that x = -2 and x = —g.

So find the x value that satisfy the Q
equation 3 - 2 =17?
4x
24—
X+2
A)-2 B) -1 C)_g

7. 20152 -20142=7

A)2019  B)4019  C)4029

S D)4049  E)1

5 log, x +log, y
- logy(x-y)=

C) 247
E) 42




A)

C)

f(x) =|x + 3| - |x| fonksiyonunun grafigi
asagidakilerden hangisidir?

Which one is the graph of the function
f(x)=|x+3|-[x?
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9. (x+1).P(x-2)=x"+ olduguna
gore, P(x) polinomUhun
toplami kagtir?

If the equality (x +1
holds, then what is t
coefficients of P(x)?

A9 BB)8 D)6 E)5

/

Soru igaretinin yerine getirilmesi
gereken sekli bulunuz.

Find the correct figure that need to
be replaced for the question mark.

Sas
N y— 3)2—( C)?—
D)\7 E)\.7



1. (1-_2_ 1__b_)=7
a+b a+b
A) atb B) atb c)f
b a
D) 2 E) 1
122 fiR->R g:R?-> R olmak iiz

f(x)=

fonksiyonlari tanimlaniyo
(fog)(2,-1) degeri kagtyr?

For the functions f{
above, what is the valu

A) 13

{x1 x<0vegm
3x-2 x=0
L

Buna gore,

nd g(xy) in
fog)(2-1)?

C)

@7
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Ha -9 q,-
mﬁ B) 9% D) 3°

31—X=\/§___>9X=?



3
X
15. dx =7
{JX+1

A) 12 B) 6 C)

4 2
D) - E) -
)3 )3

denkle
dir. Ayrica

16. x*-8x+m-1=0
kokleri x, ve X

X, - 2X, =11 olduguna‘gg

If the roots of x* —8x+

and x,, and also if x4 2,
satisfied, then what is
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17. |z-2+3i|=4 esitlig
karmasik saylilarinin geometi
denklemi nedir?

What is the geometri
complex number under the

12-2+43i|= 47

‘
A

m, n ve a tamsayilar oimak lizere,
y =ax’ - 5x + ¢ paraboliiniin grafigi

yukarida verilmigtir. Buna gore
m+n+a+c toplami kagtir?

For any integers m, n and a, the
graph of the parabole y =ax’-5x+¢

is given in above. What is the result of
thesum m+n+a+c?

A)9 B) 10 C)11

D) 12 E) 13
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2
19. limw=? 21. . XAy=xy—1y
oo I x*y=
3X+y,
. (5*3)(7A1) =
A) -1 B)0 0)1 (5%3)(7A1)

D) 2 E)3

does stand for
Equation IIl ?

1 1
Y AR

1
D) - E) —
)z )5
dx
20. =7
f9X2 +4
1 2x L
A) —arctan(=)+c
6 3
B) arctan(%x)m
C) %arctan(q) 1

1
E)ﬁc +C A)4  B)8 )10 D)1 E)6




X -3x+1-x42
23. i 7
X“EL( 5_4x )
5 1 1
A) > B) - c) -
) > ) 5 ) 2
1 5
D) - E) -2
) 1 ) 5

24, fxzf(3x 10’)( 3x° 4X+5=>f : )

A) i ‘

S
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2. f(0)-(2+0+x7) =

A) 1 B) 6

D) 23 N

Yukarida paraboliiniin

y=4-x
grafii izilmistir. |OD| =|DC|

olduguna gére, tarali bdlgenin alani
kag br’dir?

The above graph is for the parabole
y=4-x*. If we have \ODHDC}, then
what is the area of the shaded region?

10

A) 4 B) % C)3

|

D) E) _g



2. 2 4o xer
2
1+~2—
1-£
X
A) -2 B) 1 C)2
D) -3 E) 3
3x+2y =17
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/

;2015 | :2016
9 17+
30. 1 = —1 = W =
1 :
A) -1 B) - C)i
D) i E) 1



31.

S (U |E X
M

Yukaridaki sekil bir kiipiin agilmig hali
ise agagidakilerden hangisi bu kiipiin
kapali hali olabilir?

Assume that the above figure is folded
to form a cube. Determine which of the
following can be produced?

A) B) )
Y A 2/
M B [E]
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2x—3’ x>0
4

f(x)= T -3<x
x+2'

3x + 3, N
seklinde tanimlanan f fonksiyon
siireksiz oldug ayi degeri
vardir?

How many disc ts are there
for the f(x) 7

C)2

D)0



34. A 5
}

3 60km/h

90km

i
> 70kmh

Aralarinda 90 km olan iki aracin hizlari
sirasiyla 60 km/sa ve 70 km/saattir.

A ve B noktalarindan ayni anda ayni
yonde hareket ettikten kac saat sonra
hizli olan arag yavas olan aracin 60 km
oniine geger?

The distance between two cars is 90
km, and their speeds are 70km/h and 60
km/h, respectively. If they move from the
points A and B at the same time, then
calculate how many hours later the car
moved from A will be in front of 60 km
from the car moved from B?

A) 15 B) 12
D)7

C)9
E)4

’3‘0
%)
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trapezoidal, and also let [AB]/ / [DC],

IDG[= 4cm,

AB|=10cm, |AD| =|BC|.
n what is the lenght of |AC| = x ?

T
A) /89 C) 62

B)9

D) 8

E) 25

36. /1903.1909+9 =?

A) 1903 B) 1910 C) 1904

D) 1908 E) 1906



sin3x
x> 3X
A)0 B)2 C)- D)1
1 1
38, (1+-).(1 ( =7
(+4)(+5 i
A)1 B)2
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-5

,(\le

i2 = — 1 olmak lizere,

A

A) 25 B) 25i C)-25

D) -25i E) -50



41, 144 +30,027 - 40,0625 =2

A) 4 B)-1  C)-2

D) 2 E) 1

(
1 X
2—§ C) f(x) =2 +sin(%)
2 1= @ 2
2+§ . ( sinx
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43, y

igi verilen

Jidakilerden

represented by
interval [0,47]?

A) f()’+ C0S2X

B) f(x)=1+sin2x

D) fX)=3-T

R “
17 2 E) f(x) =3 -sin2x

D) 1 37




45.

E( 21 )=?
“\k -1
1 1
B) - C
2 )2 )
3

D) — E) -

)4 )
+ a b c
a 5¢
b 9
1c 5
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46. ve 47. sorulari asagida v,
tablolara gore cevaplayiniz
Answer the questions 46 and
the related tables.
L
46.
35 2153
1532 3592
INEK=7?
A) 3215 B) 5321 C) 9351
D) 1235 E) 512
41. | A
KONYA 35128 58361
OYNAK
ONKAY
51863 35816
KOYUN
OYUNA=?
A) 31826 B) 56182 C) 61358
D) 51286 E) 31268

13
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X+y=12
48. y1z=21l=x+y+z=7 50. "mX.SanX:?
X+z=9 x-0 tan’ 3x
e B) c)
A) 7 B) 10 C) 21 3 3

2
D) 17 E) -10 QE) >

0 3 1
veriliyor. Buna gére

" e

For the above matrice A)2 B)5 C)4
product B?

A) 84 B) 8

S

14



RN EN
4 |2 6 3
13
2 B) . c) =
A) ) )4
15
D) — E)5
)4 )
L
a'-b* (a+b) -a
53. —
a+b a-b
A)a-b B) a+ :
D)21 20
L 4
L 4
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54.

COS X )
55. d(sinx)="?
f1—sinx ( )

A) sinx-x+c¢
B) -x-sinx+c
C) x+sinx+c
D) x-cosx+¢
E) sinx-cosx+¢
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3x+1 +5x
56. i =7
xl_l)n_lw 3X _ 5x+1 58. [—7 - 3(—5) - 4] = 7 @
A)3 B) -1 C)0
A) 26 B) C)-12
1

D) 1 E) =
) ) : QEW

/

3 -2
1 4
trisi agagidakilerden hangisidir?
T .= K matrisinin transpozesi)

-1
}-K=[9] olduguna gére K’

By considering this above matrix
equality, find out the transpose of the

matrix K ?
2
A) H B)[2 1] C) M
-1
D)[1 2] E) [_2]
A)1 L 4 B) 2 )3
D )5

16



60. m<€R olmak iizere
y = x* -8mx +4m + 3 parabollerinin

tepe noktalarinin geometrik yer
denklemi agagidakilerden hangisidir?

What is the geometric position
equation for the peaks of the
paraboles y = x* —-8mx +4m + 3, where
meR?

A)y=-x+3

B) y=x*-x-3
C)y=-x*+x+3
D) y=x*-4x+8
E) y=x"+4x-8

61., 62., 63. ve 64. sorulari‘aga
tablolara gore cevaplay..

‘

63 and 64 by

Answer the questions 61,
using the following two,table

® Qo0 o o|®

17
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(e0e)o(ede)=x
(d®d)®(@®d)=y

63. =>xXQy)="?

Aja B)b C)c E)e



64.

65.

(@oce)®(eva)=x
(d®b)obed)=y

A)a

D) d

B)b

=>xX®y="

D)

(CF{ =
|AE|=2cm  oldug
tiggenin alanint bulu

CF -

FE|=22cm,

the area of
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67.,68., 69.ve 70. sorular agsagida
verilen bilgilerden haraketle
cevaplanacaktir.

Answer the questions 67., 68, 69. and 70.
by using the following informations.

aVb=b-ab

aAb=a-ab

67. (2V3) A(3V2)=?

A)15 B)3 C)-3 D)4 E)-15
L
L 4

68. (—~1A2) V.

A)0  4B) D) 4 E)5

4

19
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69. YA2=2AX = X=?
A1 B2 ©)3

70. yY2=2Vy = y=?

B)2 C)3 D)4 E)5



Asagidaki soruda, I. Gruptaki kiimelerin
sekilleri birer rakamla gosterilerek |l.
Gruptaki sayilar elde edilmigtir. Soru
isaretiyle belirtilen kilmenin hangi sayiyla
gosterildigini bulunuz.

In the following question, each figure in
group | has been coded with a specific
numeral, and so the numbers in group li
are obtained. By considering this idea,
find the correct number that corresponds
to the figures indicated by question mark.

. 1 -
0ne
‘OA 173 743 83
178 81
OAO
0no .0
00N
oAN =s
L 4
A)3‘ C) 487
71 43

“
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©

O

\

a

72, 3%3_.9 = 97-7

A) 243 B) 81
D)3

f(x)

3 X
L4

3, 7, 1,
Let A=—m°, A=—m"and A, =—m".
A 2 & 2 A 2

Then what is the result of

}f(x)dx=?

A) 1 B) %

5
D
) 2

|
m
|



74.

R

Yukaridaki terazilerin dordii de den
olduguna gére IV. terazideki soru is
asagidakilerden hangisini
gostermektedir?

Assume that all four scg
in the above figure. As are
calculate the question mar
scale?

21
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f(x) =x-2
glx) = (x;rl) A\
A) -1 BN3)1

— dx="?
o Xt
A) 1-2In2 B) 2in2 C) 2+In2
D) 2-2in2 E) 2-In2



77., 78. ve 79. sorular agagida verilen
bilgilerden haraketle cevaplayiniz.

M : verilen sayiya 4 ekleyip -2 ile
garpma.

X : verilen sayinin -2 ile carpimina 4
ekleme.

Answer the questions 77, 78 and 79 by
using the following operations.

The operation [ : first add 4 and then
multiply -2 to the given number.

The operation [X : first multiply -2 and
then add 4 to the given number.

77. 1 sayisina dnce [ islemi bir defa ve
sonrada ¢ikan sonuca [X islemi bir defa
uygulanirsa sonug ne olur?

First apply H ones to the number1 and
then apply X ones to the resultdWhat'is
the final result?

A)8  B)17 C)10 A D)20W.E) 24

78. Hangi saylyaénce X.dglemi daha
sonradalf islemi uygulanirsa sonug 16
cikar,

For which number/we get the result 16 if
we first apply X.ones and then apply H
ones again?

A8 B9 C)10 D11 E)12

22
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79. 2x sayisina 6nce f islemi bir defa
ve sonrada gikan sonuca [X islemi
bir defa uygulanirsa sonug ne olur?

What will be the result if we first
apply the operation Hiones and then
apply the operation [X onesito the

number 2x?
A) 2x B).8x C) 8x+20
D) x-20 E) -8x
80. 4+8+12+..+440="7
A) 110 B) 220 C) 440
D) 630 E) 820
TEST BITTI.

CEVAPLARINIZI KONTROL EDINIZ.

END OF TEST.
PLEASE CHECK YOUR ANSWERS
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